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1. Let X and Y be random variables with density function
&J(x,y} —'[] yo< ox < oy 0o oy o]
0 otherwise
Show that cov(2,Y) =0, but that X and Y are dependent

2. Consider the simple linear regression model
Y; =B +BX:+E - i =12 .. n
:'ilh the usual assumptions.  Suppose the prediction equation is
Yo o= 4 + 10X with the following additional informations:
Y o= 225, L% X! = SR000 n= 100 -
and the estimate of  the standard errorof g, is2.
1) If My-x denotes the mean value of Y associated with X, place a %5%

canfidence iterval around ,»U-f 14 . "
2} For what \-'EI]LH. of X 1s the standard grror of  AMyx aminimum?
3} Find ﬁ' (¥, — ‘s']l . wihere TL- is the predicted value of Y at .‘EZL -

4y Find sm estimate of @ *(the variance of the error terms).
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WURAER A BROERWN2 0B TRES (mmHg)

B Al 2 3 4 5 6 T 8 8 10|a3%
B¥ I B B A B A A B A B

23 10 33 14 24 28 31 8 10 17| 18m
WO |A A B A4 B B B A B A
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.de_[?wri FEL ) CUTEERRE AT 1 1080 » INIMERERE 577 1 3025 Sap =
64869565 1« Syy = 63565217+ Iyy = 66197391 - (d=0.0)

FE 20 | 30 | 40| 50 | 60 | 70
102 | 120 | 126 | 135 | 150 | 160
110 | 115 | 118 | 130 | 146 | 155
108 | 118 | 120 | 136 | 148 | 159
112 128 | 138 | 150
140
F T, | 320 | 465 | 365 | 528 | 722 | 624

wE n| 3| 4| 3! a5 |4
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